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102|357 L 1,103 1,103| Kg BIE 1,566 555
111|&EEF £ 96 30 66| Kg |ERS 1,080 864|817 1,782 1,080
113|RAV S 7 5| Kg [&) 1,511 1,296|% 1| 2,484
114|B5EFE 114 107| Kg |BRS 1,512 e 2,970 1,296
1171 % 10 10| Kg ffE 3,780
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134[#= 141 102 39| Kg |BN - E=H 2,800 1620|185 2,700 2,052
137|&5E3.< 242 208 34| Kg |BER 3,780 3,240 |fE7 3,888 1,188
140(5 I 4 4l Kg b 36,000 35,640
147|E2 O 86 86| Kg ERE - g 9,180 4,000
158|&TEN A IEH 123 123| Kg =4 3,208 864
201|{Lb L 709 709| Kg BE - A=)l 540 126
203|/hé L 48 48| Kg FfE 432 27
206| = 1F 191 191| Kg KI5 994 216
208|m>% 90 90| Kg L 2,592 756
210|1F ALy 84 84 Kg |Ri& 3,240 1,080
212|&FE3 Y 611 611| Kg FIE 2,430 1,296
251|< B %<3 64 64 Ke |=4 4,536
254|E b ECH 372 372| Kg L 2,376 1,166
303|1A 220 8 8| Keg KI5 1,080
305\ KA OB 31 31| Kg FiE 3,240 2,700
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3191 b o 128 48 80| Kg 2,160 1,836|F0&k 1L 2,376 675
3321 WA =EF 64 64| Kg 2P 2,268 2,160
35411FxE<Y 105 100 5] Kg 1,620 1,188|Z %0 3,564
355(mp Y 75 75 Kg time - FE 1,620 600
356(L L& 10 10| Kg SR 864
357|7RE 12 12| Kg FEE 2,160 1,013
362(H & 357 357 Kg FE 3,420 612
4025 & 5 5 Kg [ 5,508
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54| ARE & 2V 131 131| Kg FE - B 1,728 1,180
558|# 10 10| Kg b 1,296
560|472 226 226| Kg Bh 2,600 1,650
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70110 BA 12 12 Kg FJE 1,652
76713725 WD 48 481 Kg EE 2,520 2,340
801|BHL =T 32 32| Kg ¥ - A 1,728 1,566
8051 1X 10 10 Kg JbiF 1,058
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